MATEMATICA IT

Integracion Inmediata

1. f(6x2+8x+3)dx Sln: 2x3+4x*+3x+C
5
2. J‘Sazx6 dx Sin: §a2x7+C
g 1 9, 4
3. J‘(—+——+xW) dx Sin= =Jx24+Vx+-=x%Vx+C
Vx  2vx 2 K
1 2
4. f(x+\,"§)dx Sin = §x2+§x\/§+6
5f4d Sl—4t(x)+6'
| 759 X n= garctan (g
6 f @ si .
. — X n= —
x3 x 4x /x
5 4 3 4
7. f(2x1/3-—+33x——2)dx Sin= —x3x—5nx+3e*+—-+C
X X 2 x
x2 —x3+1 —2x2+4x3 -1
8. f " Sin = ———+C
% 4x

2 10 15:
9. J’(S\/E—Iiilﬂ—\x—_) dx Sihh= ?\/x3—§i/x3—4ﬁ+6
X

10. f(3x2—2x+7) dx Sin= x3—x*+7x+C
11 f(\/}—lx+i) dx Sln = Ex3/2—1x2+4x1/2+6
' A 3 Z
12. f\/E(B—Sx) dx Sin= 2x3?(1—-x)+C
x+1)(x~2 2 2
13. f( X )dx Sln= —x5/2 —=x3/2 —4x'2 4 ¢
75 5 3
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senx

14. f ( — cosx) dx Sin = In(secx) —senx + C
coSXx

15. f(secx + tanx)?dx Sin = 2tanx +secx —x+C
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Integraciéon por cambio de variable

e* 1 3e*
fmdx Sin = garctan (T) +C
x3 + 7x 1 1
f dx SiIn= =x*+-x*+8x+8In|x—1|+C
x—1 3 2

Sen x — Ccos x

dx Sin= x—lIn|senx|+C
sen x

1 + cos 2x

1 1
e Sin 5 Ctg 2x > csc2x +C

ta:m./xT
Vx-1
e X + xin|1 + x*| + 1
1 %2

Sin = —2In|cosVx — 1| + C

22. dx

20. f e Xsen 2x dx Sln = eSe’x 4 ¢

Bl = gAtcany +Zln2|1 + x?| + arctanx + C

(y +3) 2
| = = ——@B-y)*3-183 —y)/3
23 G -9 dy Sin 4( y) B-y*+cC
1
24, fy csc(3y?) ctg(3y?) dy Sin = —Ecsc(Syz) +C
259?’12‘.’
25. f 25N % cosx dx Sin = + C
In|2]
26 fseczanx)d S = ~tanllind+C
. > x n= stan(lnx
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